
Using Maple to do 3D Graphing and Animations 

Instructions For Opening Maple: 

1. Log into Elmhurst Portal and scroll down to till you see Citrix and click on it, then again 

on the blue box that appears. 

2. Underneath a green install button click on “skip to Log on” and enter your Elmhurst 

portal information again. 

3. Click on the folder that says “mathematics” and then “maple 2017” 

4. Click “permit use” when the window pops up. 

5. Click on the box labeled “New Worksheet” 

 As seen here. 

Maple Activity 

Today we will be using Maple to graph things in 3D and then using the animations to see how 

these graphs could change.   

 To begin, type “plot3d(sin(x)cos(y))”. Press enter.  This is a basic graph to show how the 

3d looks on the graph.  You should see this. 

  
 Notice the ranges are automatically set to -2Pi..2Pi 

 Use your mouse to rotate the graph.  

Animations: 

Now that we have figured out how to graph in 3D, we will try to create animations with these 

graphs. 

 Type “with(plots);” and you should see the following. 



 

 

 You don’t have to do anything with the blue words, they are just all the uses of the 

animations 

 Next type “animate3d(cos(t*x)*sin(t*y), x = -Pi .. Pi, y = -Pi .. Pi, t = 1 .. 2)” 

o This will give you a graph and you will be able to play with the animation settings 

when you click on the graph. The bar look like this: 

 
 

Activities: 

1. Graph “animate3d(cos(t*x)*sin(t*y), x = -Pi .. Pi, y = -Pi .. Pi, t = 1 .. 2)” After you do 

this go to the next line and add “,color=cos(xy) after the 2” 

What does this do to the graph color wise, and what does this color change mean? How could 

this be helpful? 

 

 

 

 

 

 

 

 



2. Type:     animate(plot3d, [A*(x^2+y^2), x = -3 .. 3, y = -3 .. 3], A = -2 .. 2, style = 

patchcontour)  and make observations about what “A” is doing and how the graph 

changes. 

 

 

 

 

 

 

 

 

 

 

 

3. Type an equation into the animate3d(…..) or animate(plot3d,[…..]..) and see what 

happens.  What equation did you use and what happened with yours versus the others?  If 

you got an error, what do you think was wrong and how can you fix it? Try again 

 

 

 

 

 

 

 

 

 

 

 

 

 



 

 

 

 

 


